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Lattice 3 by 2

Use lattice multiplication to solve each problem.

1) 842 x 85 =

s
Ve
Ve
7
s
4 /
4 7
4 7
s
7
s 7
7 s
s s

2) 212x85=

s
/
7
7
s
4 7/
4 7/
4 /
7
s
s /
7 7
7 s

s
7
7
7
7
7 /
4 /
4 z
7
7
s 7
7 Ve
7 s

s
/
7
7
7
4 7
4 /
4 7/
7
7
s 7
7 s
7 s

s
7
7
s
Ve
4 7
4 e
4 7
7
7
7 7
7 Ve
7 s

[ M ath ] www.CommonCoreSheets.com

Name:
Answers
3
) 553 x 50 =
1.
// // //
/// // /// 2
// // // 7
/ V2 ,’
// // ,/ 3.
/// /// //
4.
5.
6
) 971 x 69 =
6.
7 7 7
7 7 7
/// // /// 7.
// 7 /7 Vi
, // / /,
// // ,/ 8
/// /// //
0.
g 10.
) 472 x 62 =
11.
// // //
// // // 12.
7/ 7 7/ Vi
// // 7 //
// // ,/
/ / ’
// // 4
12
) 928 x 78 =
7 7 7/
// Ve //
7 7 Ve
7/ Ve 7
7/ 7 7/ Vi
4 / / 7
7 V2 Y
// // ,/
7 7/ ,
// // 4
1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12( 8 | 0




=

Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
842 x 85 = 212 x 85 = 553 x 50 = n 71,570
8 4 2 2 1 2 5 5 3
o e AR 212 s |2 18,020
71,7 41,7 2|,7 6 11,7 6|,” 8,7 6 2. 5,7 5|,75
//4 // 2 // 1 4 // 1 // 0 // 1 ’ //o // 0 // 0 7
7/ 7 7 ,/ 4 / 7/ // /7 7 7 // 27
1. 0l.”0],7 0° sl.”0l.”5],70]° 71,770l 0|, 0% || ,650
// 5 // 7 // 0 // O // 2 // O // 6 // 5 //
, , , . . , g g 2 4 39,105
5. 14,084
4) 495 x 79 = 5 503 x 28 = 6) 971 x 69 =
6. 66,999
4 9 5 5 0 3 9 7 1
2 // 6 // 3 // 1 // 0 // 0 // 5 // 4 // 0 //
3|8l 3|, 5| 11,7 0|, 0|, 6|? 6. 4l 2|, 6|87 10,860
/// 3 /// 8 /// 4/// 9 /// 4 /// O /// 2/// 8 /// 8 /// 6 /// 0 /// 9
9. 6. "1|,”'5 4.7 0|.” 0,7 4 6. 1.3, 9" |ls. 35297
/// 1 /// O/// 5 /// O /// 8/// /// 9 /// 9/// 9
9. 29,264
10. 8,873
7 181 x 60 = 8) 751 x 47 = 9) 472 x 62 =
1 8 1 7 5 1 4 7 2 1 _ 65856
0,’4,’0,’6 2,’2,’0,’4 2,’4,’1,’6
11.” 6/, 8(.,7 6 3(.” 8|.” 0|, 4 2.7 4.7 2|7 2 1 (2,384
// 0 // 0 // 0 // // 4 // 3 // 0 // ’/ O // 1 // 0 //
7/ // // V2 O 4 // // 7 7 /7 // // , 2
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/// 8 /// 6/// 0 /// 2 /// 9/// 7 /// 2 /// 6/// 4
10) 467 x 19 = 11) 686 x 96 = 12) 928 x 78 =
4 6 7 6 8 6 9 2 8
0o.,/10 ,7{0 - 5,17 ,7,|5 ,7 6 ,7,/1 ,7|5 ,
, ’ / 1 ’ ’ 7 9 ’ ’ ’ 7
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/// 3/// 5/// 6/// 9 /// 3/// 4/// 3/// 6 /// 7/// 1/// 6//’ 8
8(.”6|.”4]|,” 3 5.7 6|.”8|,”6 2.7 21.76]|,7 4
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